
ASSEMBLY INSTRUCTIONS
 for convertible crib

ARLIE 4 IN 1 CONVERTIBLE ISLAND CRIB
Model #12513

1 of 6

GUARDRAIL and CONVERSION KIT sold separately.
Please contact retailer

THIS PRODUCT CONFORMS TO THE APPLICABLE SECTION OF PUBLIC LAW 110-314
AND COMPLIES WITH THE REQUIREMENTS STATED IN 16 CFR 1219 AND 16 CFR 1217

(WHEN ARLIE GUARDRAIL IS USED).

120-12513-V-01



ALLEN KEY (included) Screwdriver (not included)

2 of 6

TOOLS REQUIRED:

PARTS ENCLOSED IN CARTON
1. Headboard/Footboard (2 pcs)

2. Sideboard (2 pcs)

3. Left post (2 pcs)

4. Right post (2 pcs)

5. Mattress Spring (1 pc)

1
2

4

3

1

2

3

5

4

120-12513-V-01

Thank you for your purchase!
Remove all parts and hardware from the box and lay on a carpeted or scratch -free work surface.

Do not dispose of any contents until assembly is completed.
Familiarize yourself with all exhibits and diagrams to facilitate the assembly of your crib.



Do not fully tighten all bolts until all parts are in place.
(please add an extra 1/2 revolution to the bolts when using spring washer after tightening)

TOOLS REQUIRED:
ALLEN KEY (included) Screwdriver (not included)

3 of 6

HARDWARE

(A)  Allenbolt 3-1/8" (80 mm) (8 pcs)

(F) Wood dowel Ø8x30mm (4 pcs)

(B)  Allenbolt 1-1/8" (30 mm) (12 pcs)

(D) Spring washer (20 pcs)

(E) Barrel nut (8 pcs)

(C)  Allenbolt 9/16" (15 mm) (4 pcs)

120-12513-V-01

(H) Allen key (1 pc) (length may vary)



4 of 6

X2

STEP 1 "ASSEMBLY OF SIDEBOARDD"

THIS STEP REQUIRES :
2. Sideboard (2 pcs)

3. Left post (2 pcs)

4. Right post (2 pcs)

(H) Allen key (1 pc)

(C) Spring washer (12 pcs)

H
B

D

(B)  Allenbolt 1-1/8" (30 mm) (12 pcs)

2

3

4

120-12513-V-01

STEP 1 :
- Assembly Left post (3) and Right post (4) to the hole on Sideboard (2) by Allen bolt (B), Spring washer
(D).  Tighten all bolts by Allen Key (H).



5 of 6

STEP 2 "ASSEMBLY OF HEADBOARD/FOOTBOARD"

THIS STEP REQUIRES :
1. Headboard/Footboard (2 pcs)

(H) Allen key (1 pc)

            FACE
            INSIDE

1

(A)  Allenbolt 3-1/8" (80 mm) (8 pcs)

(C) Spring washer (8 pcs) (E) Barrel nut (8 pcs)

D
A

H

E

120-12513-V-01

STEP 2 :
- Assembly Sideboard to the hole on top Headboard/Footboard (1) by Allen bolt (A), Spring washer (D) and
Barrel nut (E). Tighten all bolts by Allen Key (H).
- Assembly Sideboard to the hole on bottom Headboard/Footboard (1) by Allen bolt (A), Spring washer (D),
Wood dowel (F) and Barrel nut (E).  Tighten all bolts by Allen Key (H).

(F) Wood dowel Ø8x30mm (4 pcs)

A
D

F

E

H



6 of 6

(C) Allenbolt 9/16" (15 mm) (4 pcs) (H) Allen key (1 pc)

STEP 3 "SPRING INSTALLATION"

THIS STEP REQUIRES :
5. Mattress spring (1 pc)

Highest
position

Middle
position

Lowest
position

FIG.2.

Lowest
position

FIG.1.

FIG.3.

            FACE
              TOP

C

H

C

H

5

120-12513-V-01

STEP 3 :
- Attach Mattress Spring (5) to Side board as shown in FIG.1.
- Secure with Allen key (H).
- See FIG.2. for height adjustment.
- Make sure the Mattress Spring (9) is leveled after assembly. Complete as shown in FIG.3. Thank you!







1 sur 6120-12513-V-01

INSTRUCTIONS DE MONTAGE
pour lit d'enfant convertible

LIT D'ENFANT ARLIE CONVERTIBLE ISLAND 4 EN 1
Modèle n° #12513

GARDE-CORPS et KIT DE CONVERSION DE LIT COMPLET vendus séparément.
Veuillez contacter le détaillant.

CE PRODUIT EST CONFORME À L'ARTICLE APPLICABLE DE LA LOI PUBLIQUE 140-314 ET CONFORME AUX
EXIGENCES DÉCRITES DANS LES 16 CFR1219 ET 16 CFR1217

(QUAND LE GARDE-CORPS ARLIE EST UTILISÉ).



CLÉ ALLEN (Inclus) TOURNEVIS (non inclus)

2 sur 6

OUTILS NÉCESSAIRES:

PIÈCES INCLUSES DANS LE CARTON
1. Tête de lit (2 pièces)

2. Panneau latéral (2 pièces)

3. Poste de gauche (2 pièces)

4. Poste de droite (2 pièces)

5. Ressort de matelas (1 pièce)

1

2

4

3

1

2

3

5

4

120-12513-V-01

Merci pour votre achat !
Retirez toutes les pièces et le matériel de la boîte et posez-les sur une surface de travail recouverte de moquette

Ne jetez aucun contenu avant la fin du montage.
Familiarisez-vous avec toutes les pièces et les schémas pour faciliter le montage de votre lit d'enfant.



Ne serrez pas complètement tous les boulons avant que toutes les pièces ne soient en place.
(veuillez ajouter un 1/2 tour supplémentaire aux boulons lors de l'utilisation de rondelle à ressort après le serrage)

3 sur 6

ÉLÉMENT

(A)  Boulon Allen 3-1/8" (80 mm) (8 pièces)

(F) Cheville en bois Ø8x30mm (4 pièces)

(B)  Boulon Allen 1-1/8" (30 mm) (12 pièces)

(D) Rondelle élastique (20 pièces)

(E) Écrou de canon (8 pièces)

(C)  Boulon Allen 9/16" (15 mm) (4 pièces)

120-12513-V-01

(H) Clé Allen (1 pièce) (length may vary)

CLÉ ALLEN (Inclus) TOURNEVIS (non inclus)

OUTILS NÉCESSAIRES:



4 sur 6

X2

ÉTAPE 1 "ASSEMBLAGE DU PANNEAU LATÉRAL"

CETTE ÉTAPE EXIGE :
2. Panneau latéral (2 pièces)

3. Poste de gauche (2 pièces)

4. Poste de droite (2 pièces)

(H) Clé Allen (1 pièce)

(C) Rondelle élastique (6 pièces)

H
B

D

(B)  Boulon Allen 1-1/8" (30 mm) (12 pièces)

2

3

4

120-12513-V-01

ÉTAPE 1 :
- Assemblage Poste de gauche (3) et poste de droite (4) au trou sur panneau latéral (2) par boulon Allen
(B), rondelle élastique (D).  Serrez tous les boulons par Allen Key (H).



5 sur 6

ÉTAPE 2 "ASSEMBLAGE DU TÊTE DE LIT"

CETTE ÉTAPE EXIGE :
1. Tête de lit (2 pièces)

(H) Clé Allen (1 pièce)

FACE/AVANT
INSIDE/INTERIEUR

1

(A)  Boulon Allen 3-1/8" (80 mm) (8 pièces)

(C) Rondelle élastique (8 pièces) (D) Écrou de canon (8 pièces)

D
A

H

E

120-12513-V-01

ÉTAPE 2 :
- Assemblage panneau latéral au trou sur le dessus Tête de lit (1) par Boulon Allen (A), Rondelle élastique
(D) et Écrou de canon (E). Serrer tous les boulons par Clé Allen (H).
- Assemblage panneau latéral au trou sur le bas Tête de lit (1) par Boulon Allen (A), Rondelle élastique (D),
Cheville en bois (F) et Écrou de canon (E).  Serrer tous les boulons par Clé Allen (H).

(F) Cheville en bois Ø8x30mm (4 pièces)

A
D

F

E

H



6 sur 6

(C) Boulon Allen 9/16" (15 mm) (4 pièces) (H) Clé Allen (1 pièce)

ÉTAPE 3 "ASSEMBLGE DU MATELAS"
CETTE E1TAPE EXIGE :

5. Resort de matelas (1 pièce)

Position
la plus
élevée

Position
intermédiaire

Position
la plus
basse

FIG.2.

Position
la plus
basse

FIG.1.

FIG.3.

FACE/VISAGE
TOP/HAUT

C

H

C

H

5

120-12513-V-01

ÉTAPE 3 :
- Fixer le ressort de matelas (5) à la panneau latéral comme le montre la FIG.1.
- Sécurisé avec Clé Allen (H).
- Voir FIG.2. pour le réglage de la hauteur.
- Assurez-vous que le ressort de matelas (9) est nivelé après l’assemblage. Compléter comme le montre la
FIG.3. Merci!






	M254-AI-HY-c1
	Sheets and Views
	Model


	M254-AI-HY-c2
	Sheets and Views
	Model


	M254-AI-HY-c3
	Sheets and Views
	Model


	M254-AI-HY-c4
	Sheets and Views
	Model


	M254-AI-HY-c5
	Sheets and Views
	Model


	M254-AI-HY-c6
	Sheets and Views
	Model


	crib warning EN
	c_1e
	c_2e
	c_6e
	c_7e
	c_6e
	c_7e

	M254-AI-HY-c1.pdf
	Sheets and Views
	Model



